PN5122

A T DR (0 I ) A% Ik

PN-100-SBM12-HFPKG/USI...IV

- PR R

I
¥
*
g

H

o i
S|
14
(-
= |
mn
I ~
[Tp]
y {
i
M12x1 THA'S 9* ‘
/ \M12x1,5
f240 1506149

7BLED o
G e 122411

CE @

LISTED

fiin R R K Herfmh B 1

-2 5 R [bar] 0...100

RN IBLZE: M12 x 1,5 Pyigar 1ISO 6149
) F

FETR I TERE B G ik

I3 H T Tl

I AR AR T

4 b A T A ISR NN ) B KAE 25 bar o
A I il [°C] -25...80

PR ) e /ME [bar] 650

P B E [bar] 300

EH FHXT )

TAEHE V] 18...30 DC

HIJARFE [mA] <60

2 2% A BH e /ME (MQ] 100; (500 V DC)

B4 55 2% 11}

SARLRA f

FEHLLEIR B[R] [s] 0.2
Watchdog £ i [ 4 i i q

DT () AT IRA R o Bldil 408X « i pr615F 154567 « i : 201203, fapl: 0213813 4800 « f411: 021 5027

8669 « 4x[H iyt 5-Hi2k 400 880 6651 — JeAT {4 B AHL AT ANifi AL B AR S HALR] . — ZH-CN — PN5122-00 — 06.06.2003 — &



PN5122

A T DR (0 I ) A% Ik

PN-100-SBM12-HFPKG/USI...IV

PEVINE PN ]
LN LR R e o 1
i
i A 1
A TFRAH >
AT PNP
HER IR 1
i ohie W/ H U (RGeS ED
TFXEEDCH R NE [V 2
g?&%é@ﬁ DCIfF&: st [mA] 250
Joi it ORA f
Joi g ORA ik
e C H
04/ 5 Y
P3G [bar] 0...100
FFX AL, SP [bar] 1...100
SR, P [bar] 0.5...99.5
P [bar] 0.5
B / i 22
FEOC R ESENNNEE A <+1,0
BERE ESER = <+0,25 GHEWEI< 10 K)
ELREAS 4h % 110 K <+0.3
J52 I8 ]
P T AN TE et v S &M [ms] 3 6 10 17 30 60 125 250 500
IS [0] F) TF DA% 1]
(dAP)
FFH [Hz] 170 80 50 30 16 8 4 2 1
S P (8] [ms] FEFETE IS TR 5 JT 5% a3 (SPX) = 70 %; 5247 1id (rPX) = 30 %
AT YRR GEIR I (1] S, dr [s] 0,0,2,..10, 11,...50
B/ ks
TR S G R0
ZRBE IR/ B HOIT/H A ONFEIR | JCWTEERT s FHJE
AR
IR [°C] -25...80
AP [°C] -40...100
AL SR IP 67
TAIE /DA
EMC e i e 7% EN 61000-4-2 ESD 4kV CD/8kV AD
EN 61000-4-3 HF H fif 7% 5 10 V/Im
EN 61000-4-4 Burst 2 kv
EN 61000-4-6 S $iitz [ 3 (1 & S it B 10V
s DIN IEC 68-2-27 50 g (11 ms)
Pis DIN IEC 68-2-6 20 g (10...2000 Hz)

DT () AT IRA R o Bldil 408X « i pr615F 154567 « i : 201203, fapl: 0213813 4800 « f411: 021 5027

8669 « 4x[H iyt 5-Hi2k 400 880 6651 — JeAT {4 B AHL AT ANifi AL B AR S HALR] . — ZH-CN — PN5122-00 — 06.06.2003 — &



PN5122

A T DR (0 I ) A% Ik

PN-100-SBM12-HFPKG/USI...IV

HUBE AR Z 4w

JGF [mm] @34/L=915

B L EPDM/X; FKM; PA; PBT; PC; R454M(1.4301/304)

R BT R4 (1.4305/303); [ ; FKM

TFRENEH 112,

RN LR M12 x 1,5 4 ISO 6149

BN/ AR

ETHIN FFRA LED, #1 ¢4
IIATN 7ELEDE R
WA 7BLED R

TR

QRS 1fF

LA

FAffr: 1 x M12; Bt A sk s PG

B0

DT () AT IRA R o Bldil 408X « i pr615F 154567 « i : 201203, fapl: 0213813 4800 « f411: 021 5027

8669 « 4x[H iyt 5-Hi2k 400 880 6651 — JeAT {4 B AHL AT ANifi AL B AR S HALR] . — ZH-CN — PN5122-00 — 06.06.2003 — &



